Inverse and Joint variation
Algebra II 
Name____________________

Quiz Form A




Period______

Questions 1-2, state an equation of the variation described.  Use k for the constant of variation.

1.   H is inversely proportional to U.

2. T is jointly proportional to X and Y.

Questions 3-4, show all of your work.

a)  State an equation of the variation described using k as the constant of variation.

b) Find the constant of variation. 

c) Use the equation to find the unknown. 

3. If c is inversely proportional to d, and c = 2 when d = 3.6, find c when d = 4.5.

4. If x is jointly proportional to u and v, and x = 15 when u = 2 and v = 1.5, find x when u = 0.5 and v = 6.

5. Suppose r varies jointly as t and s and inversely as the square of v.  When t = 3, s = 18, and v = 5, r = 3.78.  Find r when t = 4, s = 12, and v = 4.

6. According to Ohm’s law, the current flowing in a wire is inversely proportional to the resistance of the wire.  If the current is 8 amps (A) when the resistance is 
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, for what resistance will the current be 5 A?  Use C for the current and R for the resistance to write the equation.

7. A pulley 15 cm in diameter, rotating at speed 20 rev/sec (revolutions per second), is belted to a pulley 10 cm in diameter.  Find the speed (in revolutions per second) of the smaller pulley if the speeds of the pulleys are inversely proportional to their diameters.  Use D for the diameter and S for the speed to write the equation.

8. In GSP take this circle:
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and ring it with copies of one of the small circles in this image:
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determine the number of baby circles needed to circle the circle and the diameter of both large and baby circles. How close to π did you get? Explain.
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